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A01-001 L=2.8km [ I B B BN 3,591
A01-002 L=0.18km LI I 124
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A01-004 L=0.8km [ I B B 105
A01-005 L=2_1km [ I B A B | 557
A01-006 L=0.26km [ I B B BN 256
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A01-007 L=0.7km [ B BN B B 531

A01-008 L=0.9km [ B BN A B ] 500

A01-009 L=0.8km [ B BN A B ] 924

A01-010 L= [ I B 556
1.2km

A01-011 L=1.04 [ B BN B B 980
km

A01-012 L=0.47km [ B BN B B 371
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A01-013 L=0.75km [ B BN A B ] 335

A01-014 L=0. [ [ [ [ [ 800
4km
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RO5 RO6
) 494 319

(b) 0 0

(c=a+b) 494 319
(d) 216 493

e 217 493

() 493 319

@ 133 129

(h = c+d-e-f) 0 0
(i = (g+h)/(c+d)) 18.73 15.88
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